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QUESTION 1

A customer installed an ONTAP cluster. The customer wants to provide data access to host computers 

and end users. 

Which three tasks are required? (Choose three.) 

A. Create a Quality of Service (QoS) policy. 

B. Create an SVM. 

C. Create a LIF. 

D. Create an IPspace. 

E. Create a volume. 

Correct Answer: BCE 

 

QUESTION 2

Click the Exhibit button. 

You are troubleshooting a Linux host named host1 that sees a connection refused message when you 

execute the ssh admin@192.168.1.240 command. 
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Referring to the exhibit, what is the reason for this message? 

A. There is no route to the host. 

B. The firewall policy is blocking the host. 

C. NTP is set up incorrectly. 

D. DNS is not resolving the host name. 

Correct Answer: B 

 

QUESTION 3

In which scenario would you specifically assign aggregates to SVMs? 

A. to configure an ONTAP system for CIFS and iSCSI 

B. to create SnapMirror peering relationships between SVMs 

C. to prevent a storage administrator from overcommitting an aggregate 

D. to configure an ONTAP system for multi-tenancy 

Correct Answer: D 

Reference:
https://library.netapp.com/ecmdocs/ECMP1368404/html/GUID-5255E7D8-F420-4BD3-AEFB7EF65488C65C.html 

 

QUESTION 4

Which mediator type is required for an ONTAP Select 2-node HA solution? 

A. mediator node 

B. mediator storage virtual machine 

C. mediator cluster 

D. mediator virtual machine 

Correct Answer: B 

 

QUESTION 5

What are two client specifications for an export rule? (Choose two.) 

A. 192.168.100.0/16 

B. 192.168.100.0/0 
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C. 0.0.0.0/16 

D. 0.0.0.0/0 

Correct Answer: AD 
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